[ Efficiency vs vertpos |
- 0.2

CRRT, S S —
e . F : : :

O e AR AR
Q -
§0.14f
) L
£0.12F ! : :
0.0 -weemmeieeeeeeeee proceeeeeed S

0.08F -+ P Feeeeeeeeen e

0.0BF -+ rseeerennenens e Bl
0.04f-+eememes e SR TR

L A T

o + 1#".#.‘*0‘*“ i -
o 0| o o o s e T L Liinn L s
T FILT :
14 . 4 .. 1
o 1] L : ## ¢+H1
0.9 -{- 41+ % + .
0.8k ;

107 ?

=
2
N

10 0
TP vertr (cr%)

—=— DQM_mkFit_newBASE3
Effici —e— DQM_mkKFit_new
ICIeNd __,__ pQM_mkFit_newANDPL

10 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> o
a0.18
c o
7 0.16
20.14
2y
c0.12
0.1-
0.08F
0.06F
0.04F
0.02F

0 .

efticie

Ratio
=

0 =15 -10 =5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


